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Profit obtain on selling an article for
Rs 600 is equal to the loss incurred on
selling the same article for Rs 400. If
selling price is Rs 750, then what is
the profit percentage?
T FE l 600 T H S99 I ITH ATH
ST aE] FT 400 TOT H S99 G g aTaAt
g & g0« gl Ii< AFT T 750 T3
g, A& AT Jiaera 71 87

(MTS 2022)
A)80% B)50% C)70% D)60%
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If a saree is sold for Rs.3230, the
seller will face 15% loss, at what price
should he sell the saree to gain a 20%

profit ?
If< T gt 3230 T § oA ATAT &, AT

fashaT T 15% i MY, 20% AT T
A o TorT 39 e Fioa g 9T I==

AMTRY?

(A) Rs.4560  (B) Rs.4650
(C)Rs.4320 (D) Rs.3440

ya % o S .
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On selling an article for Rs.68, there is
a profit of 36 %. If it is sold for Rs.62,
find the profit percent ?
U Il 68 TIF | 491 G 36% T
AT grav gl Tfe SH 62 T4 F 94T ST
g, T AT TiQera T he?

(A)34 % (B) 30 %

(C)24 % (D) 25 %

(MTS 2022)
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Vijay sells bananas at the rate of Rs 13 per dozen
and earns a profit of 30%. The cost price of the
bananas increases by 10%. If the selling price
remains the same, then what is his new profit
percent?

ST 13 T ITd T sl I H el ST g 3N
30% T AT FHTAT gl et T AT oI 10%

I8 1At gl I faena gor a8t TEar g, al S

AT ATH TiA9rd FIT 872
(MTS 2022)

A) 16.66% B) 14.28% C) 18.18% D) 14.5% -7 -
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Krishnan bought a camera and paid 20% less than its
original price. He sold it at40% profit on the price he had
paid. The percentage of profit earned by Krishnan on the

original price was :

FEU 7 Teh HH GUQT S STl T HiAd q 20% FH
TETAT FHAT| SEE TR 9 g TS TS FHa 9K 40%
ATH I S {3ATI Ho1 FIHT T FS GIT Aot ATH AT
gfaera 91 (MTS 2022)

A)16% B)14% C)12% D) 15%
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A man was selling an article at a proflt of
10%. If the selling price of the article is
doubled, then find the new profit percent
T ATHT 10% F ATH 9L T I 9 g1 9Tl
i< &g +l ﬁwwaﬁwm%m ar

AT ATH JTaerd ATd
A) 20% B) 110% C) 120%
D) 240%
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An article is sold at 5% loss. If its cost price is
decreased by Rs 20 and selling price is increased
by Rs 13, then profit of 10% is earned on it. What is
the original selling price of the article?
TF T 5% FIA X 9= AT g1 IR SHHT AWTT o
20 TIT FH HT (AT AT A FAFT =T 13 T 9287
AT ST, QT 39 9 10% FT ATH TSI grav gl a&g Fr
C CREERE EC IRV

(MTS 2022)
A) Rs 266.66 B) Rs 221.66 C) Rs 283.33 D) Rs 250
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Shivam purchased two watches, first for Rs
12000 and the second for Rs 10000. He sold
both the watches, first one at the profit of 10%
and the second at a loss of 10%. What is the
overall profit or loss?

forawr 7 < =it @<, T8t 12000 T3 § 3T
A 10000 0 ®| 39 AT FISAT o F &, T8l
10% F AT 9T 30T T 10% it T 9= FF AT

7 BT 4T 872 (MTS2022)
A) 2.25% loss B) 2.25% profit
C) 0.909% loss D) 0.909% profit,

]

AU E} gyl
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A person sold 28 articles for Rs 2800
and incurred a loss of 20%. How many
articles should he sell for Rs 4400 to
make a profit of 10%?

T A<k 7 28 90 2800 9 F S| 3
20% #FT BT =l 10% T ATH FHHAA &
oI I8 4400 =90 ¥ fha«t aeqq S=+1

ATRT?
(MTS 2022)
INRE B) 40 C) 32

D) 24 DL




912151 SSC 2023 AYNITE

A person earns a profit of 30 percent
by selling an article for Rs. 325. How
much percent should he increase his
selling price to earn a profit of 40
percent?

T A<k T 950 Hl T3 | =< 30
TTQeTa =T AT FHTAT g 325. 40 Sfaera

(MTS2022)
(A) 7.69 % (e ]
(B) 6.66 %

1R\ O£ AAPFs= A/
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A fruit seller sells 2/5th part of fruits at a
profit of 10% and remaining at a loss of
5%. If the total profit is Rs 1850, then what
is the total cost price of fruits?

U Bl (ashdl Betl T 2/537 AT 10% ATH 9T
ML AW 5% T 9L 99T gl A T AT
1850 &9 §, AT Al T A AR T FIT 87
(MTS 2022-23)

A) Rs 198000

B) Rs 205000

C) Rs 185000

D) Rs 176000
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A sells a good to B at a profit of 20% and B
sells it to C at a profit of 25%. If C pays Rs
2250 for it, what was the cost price for A?

A T3t a&g F T B F 20% ATH 9 99T g 3T
B =@ C &l 25% &TW 94X 99T ¢ I C 39
Feg Al 2250 T H @{<Ar g ar A g SS9
e 1T I @=T TAT?

A)1000 B)1500 C)1800
D) 2000
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Romi earns a profit of 20% on selling an
article at a certain price. If she sells the
articles for ¥ 8 more, she will gain 30%.
What is the original cost price of 15 such
articles?

QAT T AT Oo0 W & aeg 999 1< 20%
T ATH FHTAT gl < 98 8 T ATqF | I&q
99dT g, Al 39 30% T fHenm 15 o9 a&g
T o AT 9T 872

(A)¥1,280 @B)T1,152 (C) %1200

(D) ¥ 1100
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A T.V. is sold at 8% gain. Had it been
sold for ¥ 714 more, the gain would have
been 15%. To gain 18%, the selling
price of the T.V. should be:

TH T.V & 8% ATH 9T ST STAT gl
TH 714 < AfqF F 997 14T, & q0H 4%

gran 18% T Tt w4 & forg T.V #i
foshl G gt AT

(A)Z 12,138 (B) ¥ 12,036

(C) T 11,934 (D)Z 12,240






